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Question Number : 1 Question Id : 4771873365 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Rakesh, a Class-IX student is actively involving in co-curricular activities than

curricular activities. This relates to

AT (R[AE GG ACE ATHT FF BIABANHNT (GTT T2-ADT FhiF
FrIFACH AP Tord Gifow | 4 a3 S T=4fFe

Options :

Inter-individual differences

W2 ATers MLFT
1. %
Intra-individual differences
- 12T
2.
Both inter and intra individual differences
:ﬁj @g LCJHE: &IE E'\ﬂa ﬁi\:ﬁﬂ Wﬂasﬂ
3. %

Neither inter nor intra individual differences

WrEe M WS AheFsre HLF (=2

4. %



Question Number : 2 Question Id : 4771873366 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT principle of child development
1 [RHI e Aifelt BaRe F4

Options :

Development proceeds from general to specific responses

THI MHET Aol (A HhE Sfelawe mie

AT Ty

1. ®
Development follows the principle of interrelation
ST A W[B2 FHAHA Ao WA HA |

2. %
Development proceeds in the direction of the foot to head
AT (AT WA TP [FH™1 A50T T

3. ¢

Development exhibits lack of uniformity in the developmental rate of a

child

f*r% fT1g =g Wfvged We| (R 919



Question Number : 3 Question Id : 4771873367 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the periods of development given under List- A with stages as given under

List-B with respect to Erikson’s Psycho-Social Development Theory

AT NCAT — TG BTN OUFd AT, O] A 9 WA TS
RF G TN et OiferHl B 99 WA oWe g e S (a8 |

List- A List—-B
SIfeiaT- A SIS - B
(Period of Development) (Stage)
(SHURE STATS) (ordfry)
A) Rt vears i) Initiative Vs Guilt
.
1
G (U 15 IR SUAIIST TR SRR
B) 6yearsto 12 years il)  Autonomy Vs Doubt
6 924 (4T 12 924 FEHE *[« 9«1 SR
C) 3wyearsto6 years iii) Trust Vs Mistrust

3 %9 (UTF 6 IRA [EEIN RN AR p|

D) il vearsted years iv) Industry Vs Inferiority
=
BRI TR G
129 (A 3 TR P

(Choose the correct one

S3F Tedd TIY F4

Options :

A-11i, B-iv, C-1, D-11
1.

A-iv, B-1ii, C-1, D-ii



A-iii, B-iv, C-ii, D-1

A-ii, B-1, C-1v, D-11
4. %

Question Number : 4 Question Id : 4771873368 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement relating to the growth and development of

a child

i3 3 93e fRemr SRt S S7=ifFs g [RSM fofrs <

Options :

Development is comprehensive than growth

*JiEa (G TaTw AAF

1. ®
Growth includes quantitative aspects; development includes both
qualitative and quantitative aspects
M@ d T ARG MF TBwe (ATH ; GHANT VT BI57S
G35 ARFATTS MF B AT |

2. %
Maturation and environment influence child’s development
AFNEFS! A7 AR T [(FFF Ol F0F |

3. %

Growth is comprehensive than development

SR (50 2F IHNF

4.



Question Number : 5 Question Id : 4771873369 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following, identify the correct statements regarding the role of

heredity and environment on child development

aEfElTe afeg Ny, Fre [RErE 39%efe g93e SAf[Es =de Afe

Rfoaf bz F4

A) Heredity plays a role in physical development of the child

1o *AAEE [P0 IS5 IFT A F0A |

B) Environment plays a role in the emotional and social development of the

child

=T TFDTE @ SIS S0 AR Qs a0IR

C) Development 1s the product of environment and heredity

SR =T AT a9¢ qe=15ifed =56

D) Learning and maturation influence development of the child

14T G35 AT Fel 7 [Errs efte

Choose the correct one:
Options :
A, C,Donly

A,C,D N4

B,C,Donly

B.C,D g
2. %

A B,Conly

A B, C A4
3. %



A,B.C,D
4.

Question Number : 6 Question Id : 4771873370 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A teacher has provided support to a student in performing mensuration problems
and has gradually withdrawn support after the student was able to perform the

problem independently. According to Vygotsky, thisis

JFGH FAFE JFGH Qata ARTACHT TSI STAET SIS 7
FLATEA 492 BIG0 T BT TAA] TAEW BA00 56 23T o4 it
HITA ST2rTel AoIEd 0 RS | 912506 W, 4aft

Options :
Scaffolding
wld

1. ®
Fading
f=ef

2.

Shaping

- C=rf=rg
Guiding

N F



Question Number : 7 Question Id : 4771873371 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per Kohlberg’s Theory of Moral Development, in this age, the child behaves

with obedience for avoiding censure by higher authority or social systems.

(P (oF [FFE TQANd, A% U *1® OF T o5F 4
UG TFIZR N1 IGTS ISR AN WEAT F0F |

Options :

4to 10 vears

4 (AL<F 10 94

10to 13 vears

10 (Y= 13 9=z
2.9

3 to 8 years

3 (Y(FH 892d
3. %

8to 13 years

8 (Y(<+ 13 94
4, %



Question Number : 8 Question Id : 4771873372 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Wechsler's Block Design Test, Picture Arrangement Test and Object Assembly

Test belong to this type of intelligence tests.

STHIENAT IF [OGIEAN A=, 5 [RAIST AT 472 IF T A

Options :
Verbal
Chf
1. ®
Performance
3 Ixﬂ-’ )
2.
Paper — pencil
. PTG
3.

Projective tests

ATGIR© NS

4. %



Question Number : 9 Question Id : 4771873373 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who defined the personality as “the dvnamic organization within the individual
of those psycho-physical systems that determine his unique adjustment to his

environment”.

DS FCF (F “AFEE AL O A UG L aFa A Colfes
JIEIE NCHT SIoe e 5= (2SN FeGiee SiEares ?

Options :
Hillgard
f2e15ms
1. ®
Raymond B. Cattel
(ANG [ FGTE
2. %
Allport
o TS

Carl Jung

PIET Gl

4. %



Question Number : 10 Question Id : 4771873374 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A Class-X completed student wants to continue his study and at the same time
wants to join work to help his family due to socio-economic condition. The conflict

being faced by the student here is

T (T Gl I G PRI O o1 BIfEy (909 6l 498 a52
ST W1 —ATNIGF WIEIE FIECT O AFIECE T=G FAE G IS,

C151 AT 51T | Q2 PEsEt o STsrd Sl d =068 ©f =l
Options :

Approach-Avoidance

aA - AfF=E

Avoidance-Avoidance

2. %

Approach-Approach

LCATE — ATHATE
3.¢¥

Double Approach

BIgeT — ATHATE
4, %



Question Number : 11 Question Id : 4771873375 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Options :

A B.C,D
I.

Choose the correct statements regarding the methods and approaches of Child

development

1 S [[RU 438 @l STF JoF [ 539 F4

A)

B)

Case Study Method is not applicable to an individual
(Y SIS AG® (SIS TSI FLA ATIGY A7
Introspection Method lacks reliability, validity and objectivity

WY Aot Med (5o, (34l 4992 IGHEIE Told
AT

Observation Method ean be used to assess the behaviour of an individual

in natural conditions

HFod ARES AFGH J&FT WHI YA G ALI56T
Hfo A2 T 209 A |

Experimental Method advocates the study of behaviour under completely

uncontrolled flexible conditions

HHFUTT TINS5 |

Choose the correct one

SfHH0 5IN T

w

3.¢

A, B,Conly
A B,.C ¥4

B,Conly
B,C ¥4



A C,Donly

A C,D S
4.%

Question Number : 12 Question Id : 4771873376 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Decision making, Problem solving and Logical thinking belong to this domain

PTRIS SZ°, ST T 43¢ (TS Heer 92 GFlad W85 |
Options :

Psycho-motor

1. ®
Cognitive
2. ¢ ‘
Affective
3.8

Conative

FAMDS



Question Number : 13 Question Id : 4771873377 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following, identify those that are relevant to learning

faEEe efed YT CTUTE Y oI (Frafd bfze $4

A) Unlearning is also considered as learning
WEFS RSAMCES (141 (R [T 1=
B) Learning is a product and not a process

14T IFT6 AT (FHS ATy

C) Learning prepares an individual only for any maladjustment

PR IFGH TS (B (TR STNE G AFS FA |

D) Learning results in behavioural change through practice

WS NN (14T T WIHEe5M® Afaae =T |

Choose the correct one

Options :
A BCD

A. B, Donly

AGABD

A, B,Conly

AT A B,C
3. %

A, Donly

AT A D
4.



Question Number : 14 Question Id : 4771873378 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the items in List- A with the needs they represent given under List-B

STl A 97 WEo N BT BTl B 99 WA AWe BIRAg Ay (Iers

List- A List —-B
STl — A wlfeisl - B
A) Elders support i) Esteem needs
IGHA STLT ST ATAG
B) Social status ii) Safety needs
SANGE WIZ fNR1oraT TG
C) Sleep ili) Love and Belonging needs

qx IR 498 WO Gifzm

D) Affection iv) Physical needs
= =aifda< sz

Choose the correct one

AHBI6 5T B

Options :

A-iii, B-1, C-iv, D-ii

1. ®

A-i1, B-1, C-iv, D-iii
2.

A-ii, B-in, C-iv, D-1
3. %

A-iv, B-1i, C-1, D-ii



Question Number : 15 Question Id : 4771873379 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following, identify the correct sequence of the steps involved in

learning process

fFefafds afem T, CraE AfETE T Give gefeEm 3 E @ bize

Fd

Options :
Goal, Motive, Overcoming obstacles, Achieving desired behavioural

change

567, SUHT, JE Aoy 41, FIMGF® WHIT TG AfdTeo~ T4

1. %
Goal, Overcoming obstacles, Achieving desired behavioural change,
Motive
T3], 4] oFN 41, FIMGFO WHATIS AFION G F4,
2. %
Motive, Overcoming obstacles, Achieving desired behavioural change,
Goal
SN, M oy, FINEFS HHITS ARTTON AGH, 756
3. %

Motive, Goal, Overcoming obstacles, Achieving desired behavioural

change

SUWIT, T55], 18T WioF N F41, FINGAF® LI Ao o=
E |



Question Number : 16 Question Id : 4771873380 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the factor of learning which is associated with Men and Material

resources

AFY @ THI® TAHE A T Brpg Gommefe bfze F1
Options :

Proper seating arrangement and peaceful environment

ST I3 95T @ *MF A A=

1. ¢

Linking the recent learnings with those of the past

SrfoF WERR S Troited HERE SIS 9 41

The basic potential of the learner

REFRE Gl STEE-

The level of aspiration and achievement motivation

CEHTFIESH 492 TGAd (T B



Question Number : 17 Question Id : 4771873381 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Match the theories given under List-A with the basic principles given under
List-B

SIfeTRl A — 49 WA e ool Sis-B 99 W8N e Clifds
St esferg Sy (x=re |

List- A List—B
SIfeTHI-A wIfelHl - B
(Theory) (Principle/Laws)
(9]) (AifS / =z
A)  Operant conditioning i)  Learning is based on the principle of
WHC ro=ife association and substitution
<141 &S =1 LIS A=
AFOFIE Fifo
B) Classical conditioning ii) Stamping in correct responses and stamping

out of incorrect responses

A3E Burd ol He 993 el Beld
SHI™H |No6 F41

PINTHIE Ffoifg

C) Trialand Error ili) Emphasis on perceptual reorganization

B I 7T FEAI5T® HGISTRA GO (GG (78

iv) Emphasis on response rather than stimulus

TWIATFED (60T Afelad B94g (Grd
e

Choose the correct one

STHHI0 I H

Options :

A-iii, B-1, C-11
1. ®

A-iv, B-1,C-11
2.¢

A-iv, B-ii, C-i1
3. %



A-iii, B-iv, C-ii

Question Number : 18 Question Id : 4771873382 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A Class-V student observed the Gardening work and plantation activity of high
school students at school. He planted flowering plants at home. The action of the

student reflects this step of social learning.

AP (T TFGN QA HLeT S8 [T FEFIRITRE 15T FAF FIG
S7E FIFLAHAT FIAFATA ALITF FLACR , (F AMGTS FLeTd SR AR |
PLad S BIG ATANGF FEFE I8 AACEFATE AoFee FF -

Options :
Attention
qUATCET

1. ®
Performance

FAHT!

Reinforcement

“if& 3

Retention

q0d 19T



Question Number : 19 Question Id : 4771873383 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following, identify the aspects that can be transferred from one

situation to other situation of learning.

e Maafea Wty 1w 9F AEEw (T W AR ZasEe

7w ANE a9 el bz S,

A)  Habits

A T
B) Knowledge

Eap
C)  Skills

Wl

D) Feelings
B
Choose the correct one

AHFIOLE (NAH~ T4

Options :

A B,C.D
1.

A, C,Donly

AGACD

B.C,Donly

HAG B, C.D



A, B.Donly

AGABD

Question Number : 20 Question Id : 4771873384 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A Class-VII student tried to recall the concepts of Class- V1 but the concepts

learnt in Class-VII are interrupting him. This is due to

3 - VII 97 9FG Bl VI (XA 41397 Sfes A FA1 (68 Sarza

fF® VII (RIS (141 1797 @3fet Ot Q087 8% A0 | 99 ST =200

Options :
Proactive inhibition
BRG]

1. %

Repression

2. ®
Amnesia
?gi*@ %9
3. %

Retroactive inhibition

fJoras 13t 1

4.



Question Number : 21 Question Id : 4771873385 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Suggest the aspects which help individuals to improve their memory and

retention abilities

feTia [ = 4T3 AT FSl AT SIS =T 0 9 Fafe
ST AT WIS |

A) Appropriate motivation

OAYTF WLAFN

B) Over learning
wee =41

C) Being more emotional

(I SICI9T 2T =@

D) Association of ideas

&I SIf®

Choose the correct one

o AF0 A Fa

Options :
ABCD
1. %
A, B,Conly
ATG A B.C
2. %
A B, Donly
g AB.D

3.¢



B,C, Donly

q4GB,C,D
4.%

Question Number : 22 Question Id : 4771873386 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The educational programmes such as Acceleration and Enrichment are to be

followed by the teacher to deal with these students

A2 FTH FEFIRITRE S (NFIREAT FAF G PERSLE G149 78 T ad

ol FREFIEE FAD T FA00 2 |

Options :
Gifted
[Ty @erHf=re
1.v
Learning disabled
(1T S5y
2. %
Physically challenged
=AHF ©IE Afoq=a
3. %

Slow learners

graoifod Frwd



Question Number : 23 Question Id : 4771873387 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In this learning, Learners initiate and advance their learning by more

experienced partners

G B, FERiE WEs Wieee SRHETAd SIHITTY SR *Esl ®&F F0d
¢ afo T (& |

Options :

Insightful Learning

STBHE A =T

1. %

Imitational Learning

SIS A *ER

2. %

Programmed Learning

CHTATN 4T T

Guided Inquiry Learning

TAMTS ST =rEe

4.



Question Number : 24 Question Id : 4771873388 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The teacher has to follow these steps to improve individual learning among

students

RERETRg T Tferore FrEpr SRT- F91E9 G FEFSRlE g3 ARCEAafE
T FAl9 24 |

A) Set clear and specific goals

=T 93 [WINE 77567 Wefae a1
B) Make goals dynamic with revision at regular intervals

e [RAROTS SRS WA 7557 STt o F1
C) Involve parents

NOORFRE GioS Al

D) Let students own their progress

PEFITRE ©ITid Safed Widd 20o (R8T
Choose the correct one
Options :
A, B, Donly
Al A B D
1. %
A B,Conly
AT A.B.C
2. ®
A C,Donly
AT A C.D
3. %
AB.CD

4.



Question Number : 25 Question Id : 4771873389 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In SQ3R method, the learner has to follow this sequence

SQ3R Halots, FEFRITE 92 N Wp1he FA00 2

Options :

Survey, Question, Review, Read, Recite

1. %
Survey, Question, Read, Review, Recite
[NISFL. 2%, AGT, s F41, W6
2. %
Survey, Question, Read, Recite, Review
- 1 i B 3 e ) B o Ml B [ P | o

Survey, Read, Question, Recite, Review

NEFL. 9, N, WYS F41, HLTAHA F41
4. %



Question Number : 26 Question Id : 4771873390 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the Phases of teaching given under List-A with the associations given

under List-B

SIfeTHl A-I7 WA AR PERMITAE AT afd Sifeisr B-99 W8 oHe
TS S (el |

List- A List—B
SISl — A SIfeTHr - B
(Phases) (Association)
(ereTaesfe) (STsTaTsnesfer)
A) Pre-active i)  Conducting Group activities in the class

S-S (XTIBTEF eSS FIAFEN ARBETA FHI

B) Inter-active ii)  Giving home assignments
@ — A MG FIG (ST
C) Post-active ili) Writing lesson plan

G e R NS ATBHA T4

(Choose the correct one

NS0 (V6w +4

Options :

A-i, B-ii, C-iii
1. ®

A-iii, B-1,C-ii
2.

A-iii, B-11,C-1
3. %

A-ii, B-i, C-iii
4, %



Question Number : 27 Question Id : 4771873391 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which one of the following strategies has less scope to promote group learning

among learners?

R 0T WeTsre 6T ABITEd Gl (NaElEids (@ (EHEiod SeRrs!

G|
Options :

Discussions

1. %

Brain storming

(g B3

2. ®
Lecture cum demonstration
IF0OI TR A
3.9
Seminars
RIIGIFRIEEE]

4. %



Question Number : 28 Question Id : 4771873392 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the INCORRECT statement among the following regarding guidance

and counselling
AT 4] SR TS [Rafds effd I e [t @z NS |

Options :

In directive counselling, the counsellor plays an active role in

understanding problem

T IES AR, A= Are] ST (@R R ST 9iasl

AT A |

1. ®
In non-directive counselling, the counsellee plays an active role
NURINOTE A3l | TCF AN (ST Z(HR (7 IFI0 e
OIF A HA |

2. %
Directive counselling is also called as client-centred-counselling
[RTFIas A= E PIAT (SEd A= @ Je7 =2 |

3.¢

Vocational guidance helps in career planning and professional

development
IS TTE AU FAGII ATFGA S (H*THE SHICA T=To!
|



Question Number : 29 Question Id : 4771873393 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the learning styles given under List- A with the activities given under

List-B

BIETH — A 99 WA NS C1ATF g9er8sfe] Sifeisr -B 49 WS oWs
PR I (1S

List- A List —B
SISl — A SIfeTH— B
(Learning style) (Activities)
(T*T4TE §1E°T) (T T=eeTr™N)
A) Visuallearning i)  Listening to tape recorders

LT (GHA (FFG ==

B) Auditorylearning i) Understanding Gestures
EISRAR SIS (IR

C) Kinestheticlearning iii) Preparing models
STTTIeT (#1551 HUGET AF

(Choose the correct one

S3F W46 T4

Options :

A-1,B-1i,C-11

A-11, B-1, C-m
2.

A-i, B-11, C-1i
3. %

A-iii, B-11,C-1



Question Number : 30 Question Id : 4771873394 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The teacher can promote team work, leadership, conflict management and

interpersonal skills among learners in this type of learning

2 4F07F Py, Pees FEsIEiona S wesre FIG, (oY, 98 IR

932 1@ T 5eel I FI09 AR

Options :

Co-operative learning

ST o]
1. ¢
Teacher-centric learning
. PRS- (S P =]
2.

Self-learning

EEEES|

3. %

Subject-centric learning
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Question Id : 4771873395 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 35)

ATe Ae T s *Ife oG 13 o1 At (RS s sfae ST e
(31 CATF 35 <)

R 115 B 7 e s e B 0 B ) [ B - R [ | T G | R L sl | R
WA %6 | (GO AT & WTH AN TZEAE FIGHIN TF S0 (Rrdfe |
SYFE M ARG W [ Sz (5e o1 | (558 (G @ W-T TFF
FIGFCH 32 SN IFANE IFANE SHALE 9 [LA1A WIZE food M

=P, [T @ AT ©IE AT DG =T T9 | (7 BT OI_EE WG ey

RAH YIF9 = |

SOFAT Y9 (Old ©idl TN (ATF BITO | WAF 90T AT FIGFA
(TA 0F WO | (FBICAT (202 %6 77 | (F20E il A, ARFSNE oy

FATOA A, FOALAG AFY(ONI G191 [Re, AMNGF JORE FU O/F ORIGS

AT = | TN - [T TP I TR ©f 4l (NIGRE G W e saer
WGd HE WA | =MAAEF om0 S G - TFU S-S54 5 =7 |

UG T G [0F T —IF01 AFG 0O ALHIT Gy (A IR

el WS =16 *19, A6 WHe I960 ARFTANT (512 J2€ AT SNG

WFE (HRIE Wol NUGRg Fiiore $ig 9r4re |

Sub questions

Question Number : 31 Question Id : 4771873396 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



AN (P P0G 918 q[Rlon ?

A)  STGUSGT & SN BI0G TS ATHCOA

B) STZANA PG TS AHCoA |

Q) IEI IEINE SHALE TS AHo
D) Wi (RN I YFTo~
N0 5T~ 4 -

Options :

A B, CARD
1. %

& B CE]L D
2.

G A B s C
3. %

. % WA CAID

Question Number : 32 Question Id : 4771873397 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

4 G FU S ORTS 8 AATe A1 ATHFAE Fe Znag om’ -

Options :

. F'od] (415

1.

(7dT <4l

HI El qiP

3.



Question Number : 33 Question Id : 4771873398 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

®id [MTona GiHrad Wfesely Wed g (A= [+ -

Options :

) o O S e

1. ¢

*AHFE =20
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Question Number : 34 Question Id : 4771873399 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 35 Question Id : 4771873400 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

2
477187177
Yes



Question Id : 4771873401 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (36 to 40)
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Sub questions

Question Number : 36 Question Id : 4771873402 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :
"l RPN N W (O R NG 1 (FUES =07 =Y = -

Options :

2I4I0
1. #®

Question Number : 37 Question Id : 4771873403 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 4771873404 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 39 Question Id : 4771873405 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 40 Question Id : 4771873406 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
(FUSTE W ST Oaee ol |

Options :
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Sub-Section Number : 3
Sub-Section Id : 477187178
Question Shuffling Allowed : Yes



Question Number : 41 Question Id : 4771873407 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 4771873408 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 4771873409 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 4771873410 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :

T of v @, SRt Wi 99 |

W @ = S OT=e Wi 947 |

2. %

DRI G EREIDRIGE

3. %

Qi A0, OI=e Wi 919 |
4.9



Question Number : 45 Question Id : 4771873411 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 4771873412 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Options :
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Question Number : 47 Question Id : 4771873413 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :
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Options :
EEEEY
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Question Number : 48 Question Id : 4771873414 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
SIIeT] A-I9 I 7@ =13 BT OlfeTPl B-I9 WA A0S ©IThd S

AP e Fd -
ST A (*19) wiferT B (W2 )
A TANTS ) ST oI
B) WM i) eI
0 W iii) IS

Options :

A-ii, B-iii, C-i
1.

5 % A-i, B-ii, C-iii

A-iii, B-i, C-i

A-ii, B-i, C-iii
4. %



Question Number : 49 Question Id : 4771873415 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :
A-i, B-iv, C-ii, D-iii
1. ®
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A-ii, B-i, C-iv, D-iii
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Question Number : 50 Question Id : 4771873416 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
SIfelBl P-A7 W50 (MW *FM@fefd Bifefdl Q-9 WBs© (M8 fomyF

e [T I [ A

SIfeT=1 P (*1%1) SifeT Q (FSaTF *1#)
A WE -2, -89, iii-2fo=efe
B) W V-, v, vi-91T®
C) Hl Vii-HTIIGH, viii-TePIg, ix-~60HEd AR

=N

ATHI0 5IF Fd -

Options :
A-ii, v, vii
B-vi, wviii, ix

C-i, iii, iv

A-vi, viil, ix
B-ii, v, vii
C-i, iii, iv
2.
A-i, dii, iv
B-wi, wiii, ix
3 % C-ii, v, vii
A-v, vi, vii
B-i, ii, iii

C-iv, viii, ix
4. %



Question Number : 51 Question Id : 4771873417 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :

A-ii, v, vi, viii

B-i, iii, iv, vii
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B-iii, iv, vi, vii
2. %
A-i, i, iv, vii

B-ii, v, vi, viii
3.¢
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Question Number : 52 Question Id : 4771873418 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 4771873419 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 4771873420 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 4771873421 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 4771873422 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 4771873423 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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1. ®

W4 [T (Science of Mind)

2. %
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3. %
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4.

Question Number : 58 Question Id : 4771873424 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
P Aef® (Formative Assessment) 26T:
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Options :
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Question Number : 59 Question Id : 4771873425 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 4771873426 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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1. %
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2. %
EA
AQ = A X 100
3.¢
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Language II English
Section Id : 477187113

Section Number : 3



Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Online
Mandatory
26

26

30

0

1
477187179
Yes



Question Id : 4771873427 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)
(61-65) Read the following passage and choose the correct option for
each question.

The International Space Station {:ISS:} iz a multinational initiative and the
largest single structure ever constructed by humans in space. Its main
construction was finished between 1998 and 2011, though it has continued to
evolve with new missions and experiments. The ISS has been continuously
occupled since November 2, 2000.

Rather than being owned by one country, the ISS operates as a
collaborative program involving Europe, the United States of America, Russia.
Canada, and Japan, as noted by the European Space Agency (ESA). The cost of
operating the station is approximately $3 billion annually for NASA, which
represents about one-third of its human spaceflight budget. according to the
agency's Office of the Inspector General

As of May 2022, 258 people from 20 different nations have visited the ISS.
The United States of America with 158 individuals and Russia with 54
individuals are the leading contributors. Astronauts and research time on the
space statlon 1s allocated to different space agencies based on their financial and
other respurce contributions, such as modules or robotic systems.

Sub questions

Question Number : 61 Question Id : 4771873428 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Astronauts and research time on the space station are assigned to varipus

space agencies based on the following contribution.

Options :

soclal service-related
1.

environmental
2.

finanecial and other resources
3. ¢



educatignal

Question Number : 62 Question Id : 4771873429 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ISS has maintained a continupus human presence since the year

Options :

| = 2022

v 2000
1998

3. %

\ 2011

Question Number : 63 Question Id : 4771873430 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct statement about the International Space Station (ISS).
Options :
It i1z a multinational initiative and the smallest single structure ever
constructed by humans in space.
1. %
It 15 a multinational initiative and the largest single structure ever

constructed by humans in pcean.
2. %

It 15 a multinational initiative and the largest single structure ever

constructed by humans in space.

It 1s only NASA's initiative and the largest single structure ever

constructed by humans mn space.



Question Number : 64 Question Id : 4771873431 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the passage, this country has sent more astronauts to the ISS.

Options :

France
1. %
Russia
2. ®
Japan
3. % P
The United States of America
4.

Question Number : 65 Question Id : 4771873432 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the European Space Agency (ESA), the ISS operates as a collaborative

program of the following.
Options :

Europe, the United States of America, Russia, Canada, and Japan
1.«

Europe. the United States of America. Russia, India, and Japan
2. ®

Europe. the United States of America. Germany. Canada. and Japan

Europe. the United States of America. Russia, China and Japan

4. %
Sub-Section Number : 2
Sub-Section Id : 477187180

Question Shuffling Allowed : Yes



Question Number : 66 Question Id : 4771873433 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
brought books to the library to study together.

Choose the correct option to complete the sentence.
Options :
They, there

1. %

There, their
2. %

Their, they
3. %

They, their
4.

Question Number : 67 Question Id : 4771873434 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Read the following two sentences.
Sentence A: She came here to studying at the college.
Sentence B: She came here to study at the college.
Choose the correct option.

Options :

Only the sentence A 1s correct.

Only the sentence B is correct.
2.

The sentences A and B are correct.

The sentences A and B are incorrect.



Question Number : 68 Question Id : 4771873435 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The passenger runs to catch the train.

Choose the option to complete the sentence.

Options :

% fastly
quick

2. #

3 @ quickly
slow

4. %

Question Number : 69 Question Id : 4771873436 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The minister the prizes to the winners at the end of the function.

Complete the sentence with correct option.

Options :

gave away
1. ¢

gave up
2. %

glve up
3. %

ave back
4% B



Question Number : 70 Question Id : 4771873437 Question Type : MCQ Option Shuffling
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Sharath will not obey you. Talk to him politely.
Combine the two sentences.

Options :

Sharath will not obey you unless you talked to him politely.
1. %

Sharath will not obey vou unless you don't talk to him politely.
2. %

Sharath will obey vou unless you tallk to him politely.
3. %

Sharath will not obey yvou unless you talk to him politely.
4. ¢

Question Number : 71 Question Id : 4771873438 Question Type : MCQ Option Shuffling
Number : Yes

Correct Marks : 1 Wrong Marks : 0
My brother was driving the car.

Choose the passive voice sentence for the given sentence.

Options :

The car was been driven by my brother.

1. #

The car was being driven by my brother.
2.

The car was driven by my brother.
3. %

The car had been driven by my brother.
4. %

: Yes Display Question

: Yes Display Question



Question Number : 72 Question Id : 4771873439 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
I said to my friend, ‘Please lend me your cycle.’
Change the sentence into indirect speech.

Options :

I requested my friend to lend him his eycle.

1. %
I requested my friend to lend me your cycle.
2. %
s I requested my friend to lend me his cycle.
. My friend requested me to lend his cycle.
4.

Question Number : 73 Question Id : 4771873440 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
He offers abundant evidence that he is right.
Identify the meaning of the word ‘abundant’.

Options :

ample
1.

meagre
2. ®

minimal
3. %

acant



Question Number : 74 Question Id : 4771873441 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
His knowledge of history 1s profound.

Identify the opposite meaning of the word ‘profound’.

Options :

| % sincere
scholarly

2. ®

_ erudite
superficial

4,

Question Number : 75 Question Id : 4771873442 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The study of birds is called

Options :

anthropology.
1. %

ornithology.
2. ¢
3 % zoology.

mythology.
4. %



Question Number : 76 Question Id : 4771873443 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the meaning of the idiom “a dark horse’.

Options :

A wild animal

1. %

A black horse
2. ®

An unknown entry
3.

A front runner
4.%

Question Number : 77 Question Id : 4771873444 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify INCORRECTLY spelt word.

Options :

privilege
1. ®

maintenence
2.9

exclamatory
3.8

colleague

4, %



Question Number : 78 Question Id : 4771873445 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify meaningful sentence.

Options :
Conversion of agriculture into forests land is weakening India’s monsoon.

1. #

Conversion of forests into monsoon land iz weakening India’s agriculture.
2. ®

Conversion of monsoons into agriculture land is weakening India’s forests.

Conversion of forests into agriculture land is weakening India’s monsoon.
4. <

Question Number : 79 Question Id : 4771873446 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

It was raining heavily yesterday. ?
Choose the correct option to complete the sentence.
Options :

wasn't it

1.

18n't it
2. %

s 1t
3. %

was 1t



Question Number : 80 Question Id : 4771873447 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

When no one came  to help him, he herself picked the bag.

A B C D

Options :

Question Number : 81 Question Id : 4771873448 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the grammatically correct sentence.

Options :

All the five man’s were very energetic and eager to perform their duty.
1. ®

All the five men were very energetic and eager to perform their duty.
2.

All the five mens were very energetic and eager to perform their duty.

All the five men was very energetic and eager to performed their duty.



Question Number : 82 Question Id : 4771873449 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arrange the options to make a meaningful sentence.
P:In every country. people often

Q:the best and the most intelligent.

R:as less capable or inferior in comparison.

S:while viewing people from other countries
T:believe that theyv themselves are

Choose the correct option.

Options :

2.

3.

4.

P.Q.T.R.S

P.T.Q.S. R
'y

PR Q. T.8
®

P.T.R.Q.S

®

: MCQ Option Shuffling : Yes Display Question



Question Number : 83 Question Id : 4771873450 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the option that uses the article ‘the’ INCORRECTLY.

Options :

He was the first man to arrive.

) The wisdom is the gift of heaven.

The rose is the sweetest of all flowers.
3. %

The darkest cloud has a silver lining.
4. %

Question Number : 84 Question Id : 4771873451 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

She her camera on the sofa.

Complete the sentence with correct option.

Options :

laid
1.



Question Number : 85 Question Id : 4771873452 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

An interactive communication between two or more people 1sa/an
peop ;

Options :

story.
1. %

conversatlon.

2.
essay
3. % :
apeech.
% 0

Question Number : 86 Question Id : 4771873453 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The best known advocate of “Spiral Curriculum’ is

Options :
Bruner

1.

Noam Chomsky
2. %

Antony EM

Brendan J. Carroll



Question Number : 87 Question Id : 4771873454 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In a primary school classroom. an English teacher should create an environment
that is

Options :

focused on writing and giving home assignments.

1. ®
strict and following formal methods of teaching.
2. ®
stimulating, inclusive, and focused on student participation.
3. ¢
teaching and learning that relies solely on the textbook.
4. %

Question Number : 88 Question Id : 4771873455 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The following theme 1s inappropriate for the English mstruction at the primary
level.

Options :

Friendship and Kindnesa

1.

Sports and Games
2.

Home and School
3.

World Heritage and Culture



Question Number : 89 Question Id : 4771873456 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main goal in teaching the skill of speaking is to

Options :

memorize the vocabulary and reproduce.
1. ®

express oneself intelligibly. reasonably and accurately.
2.

assist learners in writing without making grammatical errors.
3. %

develop reading skills through speaking activities.
4. %

Question Number : 90 Question Id : 4771873457 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following two statements about language learning.

Statement A: Language learning needs tolerance on the part of the teacher.
Statement B: Mistakes are natural and inevitable part of the learning
process.

Choose the correct option.
Options :

Only the statement A 1s correct.

1. %

Only the statement B 1z correct.
2. ®

The statements A and B are correct.
3.9

The statements A and B are incorrect.
4. %

Mathematics



Section Id : 477187114

Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187181
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 4771873458 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Rational form of 3. 7 is

3.7 a9 AR (e ) FA RS

Options :
37
100
1. %
34
2.
37
99
3. %
34

99



Question Number : 92 Question Id : 4771873459 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
[(=3) X (=4) X (=5) X (=6) X (=7)] =
Options :

—2520
1. ¥

2520

—1260
%

1260

Question Number : 93 Question Id : 4771873460 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The population of a town is 108090, Out of which 29040 are men and 28105 are
women and the remaining are children. Then the number of children is

AHI0 =R AL 108090 43¢ BZF 29040 HFT GANL Y 492 28105
Y GrSI L SR (5T 2193 Gsis YT | OTRUE 41 Gz

Options :

50845

L 51945

51845
3. %

50945
4.



Question Number : 94 Question Id : 4771873461 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The marks got by a student in 4 subjects in an examination are 228. Ifthe average
marks of 3 subjects is 56, then how many marks did the student get in the fourth
subject?

IFI0 BT 4 RICIT 9510 ANSEF A1 T =1 228, M 3 [ICIT 510 9T 56

=3 OIR0e 5o¥ [E0EE OF 74 -
Options :
58
1. %

5 % 62

3.\%?6(}

64



Question Number : 95 Question Id : 4771873462 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following fractions is least?

NaEe (@ foaflt Faey
Options :

98

100
1. ®

23

25
2, %

10

11
3.

57
59



Question Number : 96 Question Id : 4771873463 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If each side of a triangle is = rd of its perimeter, then type of the triangle is

R R I T R A e | ACEAE R B G éﬁf?ﬂ | OTRCA [AQGIod B[ 24 -

Options :

Isosceles

TR G

1. %

Equilateral

2.« AANG

Right angled

ST

Obtuse

BICEIEa I

4. %

Question Number : 97 Question Id : 4771873464 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following number is divisible by 6?

TR (B J4TG 6 Bl ([ersy
Options :
L 179184

) % 143354

800552
3. %

L« 726352



Question Number : 98 Question Id : 4771873465 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of millimetres in 100 Kilometres is

100 fFrarIeg N NGLag U = -
Options :

10°

1. ®

107

2. %

10°

3. %

108
4. ¢

Question Number : 99 Question Id : 4771873466 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of edges in a tetrahedron 1s

B0 BRURICT (HITTF LT (S -
Options :

1. % ?



Question Number : 100 Question Id : 4771873467 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A 60cm long wire is used to form following shapes. Which of them will have shortest

gide?

AF6 60 (FGIGE (MY O MUY [MIHS WHhs SAtF I 26 FHON
N ST TTpfo =0T -

Options :
a square

| % a6 35f

an equilateral triangle

a regular pentagon

AFT0 RS ABgH

3. %

a regular hexagon

e GF Fahe Ioga

Question Number : 101 Question Id : 4771873468 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

38X38X38-26X26X26
38X38+38X26+26X26

Options :

1728



Question Number : 102 Question Id : 4771873469 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ratio of the cost price and the selling price is 8:10. The profit percent is

AT A9 [P T S 21 8 : 10. 70 A[O*TS 24 -
Options :

50%
1. %

25%
2.

20%

75%



Question Number : 103 Question Id : 4771873470 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which one of the following 1s NOT correct?
Options :

15
15tenths=—
10

5
15 TSR = —
1. % o

3025 grams = 3 kilograms 25 grams

5 % 3025 8N = 3 fHTaA18m 25 S0

Area of a rectangle 4.5m X 0.5m = area of a square with side 15cm

4.5m x 0.5m WNOIBAT GFaPe = 15 cm. A ST A5fFNaa
3. v PAY

0.016=16 x 1073

4.%



Question Number : 104 Question Id : 4771873471 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The place value of 01n 2225.106 1s

2225.106 ( 0 A7 FIIT N 26 -
Options :
Hundreds

1. ® 2

Tenths

5 % VTN

Tens

h ¥y

Hundredths

4 O



Question Number : 105 Question Id : 4771873472 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
. i 1 ; : : ; 2
Ramu gave his sister = th of chocolates available with him. He gave his brother = rd
from the remaining and left with 48 chocolates. The number of chocolates available

with Ramu at firstis

AT FICE OATH HHEA0T éﬁr&*‘r T (QWLF el | T8 5Reed gﬁf?ﬁ“l

O OIEE Mel 993 OYNF O1d [WF0 48 6 5H0 WI=1E 936 | Ir9d Ty
LA HRCETC6E T T -

Options :
240

1. %

) 180

L« 360

L % 480

Question Number : 106 Question Id : 4771873473 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following numbers is divisible by 2, 3, 6 and 8?

2 3.6 992 8 I NIE (M A2yt Row
Options :

| % 24810

L 43888

3 34800

42316



Question Number : 107 Question Id : 4771873474 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

4 men can complete a work in 24 days, then 12 men will complete the same work in

How many days?

4 G WT G50 FIGE 24 M A FR0S 7557 | OF FIG0F 12 G N+

F M AT FRECS TN 22{ ?
Options :

| (2

3. %

4.



Question Number : 108 Question Id : 4771873475 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

35m? is the area of
35m? = 99 CFaTe -
Options :
A square having side 35m

IFG I5(FTE 19 A= =1 35m

1. #®

5 squares having side 7m each

, x5 0 PNFRCFT IR ATSTHCH A =T Tm

35 squares having side 1m each

- 35 G 9519 CF g T ATaIF0d AT =T 1m

7 squares having side Sm each

7 6 39 C5Fa T ATOIR0F A% = 5m

4. %



Question Number : 109 Question Id : 4771873476 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number 3 crores 6 lakhs 4 thousands 8 hundred sixty-nine in numerals can be
written as

3 (16 6 1Y 4 ZGIF 8 *M® GANSd (P MU feTyte =9

Options :
L 30604869

) % 360400869

i 30004869

306048069

Question Number : 110 Question Id : 4771873477 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

(32)3 -

Options :



Question Number : 111 Question Id : 4771873478 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

There are 72 students in a class. If the number of boys is g times the number of girls,
then the number of girls i1s

G315 FPICT 72 T (RLT CIUHHAT R | AW (R ST YI (AR SR

= ST T, OTRCE (TR SR 471 XA -

Options :

27
1. %

4 % 40

Question Number : 112 Question Id : 4771873479 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of points present on a straight line are

6 TG (FUTF ]9 Jgum ==
Options :

1. % 0



Question Number : 113 Question Id : 4771873480 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is an even integer when n is an odd integer?
T n AHI6 @UGIG A ST =, U N (S0 B0 (GG A4
=09 |

Options :

5n+ 8

3
- 3n°+5

; % 3n2+4

4n? — 5
4. %

Question Number : 114 Question Id : 4771873481 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

If sum of prime numbers less than 25 1s A and mean of odd numbers less than 101s B,

A
then—=
B

M 25 9 (6T FN (NI FALUF (T5TFA A = 492 10 49 (6UF FN (UGG
ST TG B =Y | ©Iate %:
Options :

L 20

2.

18



Question Number : 115 Question Id : 4771873482 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following best describes the nature of mathematics?

NS (P06 MATe N wld S1ted AFfere 399 Fd

Options :

It involves abstract thinking and logical reasoning.

I3 W7 R Beer 93¢ (e e Gloe
4

1.

It 1s limited to solving routine classroom problems.

Af6 (e [ahre (RATEERg ST THESd NH2 SNEg

2. %

It 1s exclusively concerned with principles.

A6 dFTEDAreNT Aifsefag S sy fFe

3. %

Itis a language used only in art and engineering.

A% g9 950 O T (F39 g 8 (FHE GFrg 79T =F
4, %



Question Number : 116 Question Id : 4771873483 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

If a child is consistently struggling to count beyond 20, what should a primary

mathematics teacher do first?

T (FIAT 1% 15t 20 A9 (3 $=Te w1 A, ©f 20 AT e Fres

2Ty {5 F9E ?
Options :

Doing challenging addition problems.

| w CFISTSTSTITefer =l

Reciting the numbers.

b ) (90 5 [T 1 e B |

Conduct of daily tests.

3. %

Strengthening counting skills by utilizing concrete objects.

) F:fF0 I8 II2E FF 594 T5Fe] (GIFAE B4l
4,



Question Number : 117 Question Id : 4771873484 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A rubricis:
a0 e [{fd (rubric) T

Options :

A standardized test prepared by the experts.

| x  [ACTSRURE T 2O IH0 AR A

A multiplication and division trick to answer within seconds.

5 % LIS OTHTGT WY GO (MBTF G SN A% OICTF IH(0 (ST

A scoring guide that provides criteria for assessment.

y JF0 FIFe TS T TR NS 20 FF |
3.

A graphing tool to solve algebraic equations and algebraic problems.

oy sifrery TRIFEAT 93¢ G SIS ST STRIETNG G AF0 IeFS
4. % L2



Question Number : 118 Question Id : 4771873485 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the features of mathematics listed in A with their corresponding actionsin B.:

A (o OlfcTorew Sf9ted (SRR Sty B (@ oitng Sy W& E fFme e
Sl

A B
A) Creativity 1) Breaks down problems logically

TG el STGETE I 991 BId (o

B). Analytical Thinking i) In-depth content knowledge
Rurgara< TereE 58 RTag ==

C) Communication iii)  Useinnovative methods
CRTSTCTST G gio IR T

D) Conceptual Understanding  iv). Explaining mathematical ideas
AT QRIS SN o LTI LT T4

Choose the correct answer

SSHMC (F AN F4
Options :
A-i, B-iv, C-iii, D-1i

A-ii, B-i, C-11, D-iv

3 @ A-iii, B-1, C-iv, D-ii

A-iv, B-1, C-111, D-11
4.%



Question Number : 119 Question Id : 4771873486 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0
The instructional objectives are:
PRI SUaremasfe =4 -
Options :

More related to classroom teaching.

(FTFEF NFHTA S (A T4 Fw

1.

Achievable in the long term.

, % T CRRICR A G091

More abstract.

@ s

Not measurable.

ATTATHTIIST 7

4.%



Question Number : 120 Question Id : 4771873487 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A teacher asks students to guess, "If a square piece of paper is cut diagonally, what

shapes will be formed?"

GFGH FrFEF ARG SN FA00 04, TR 9F0 I50FE FI90ed
DFE [OAF O3 FI0I =, OIR (S FHE todl =4 1"

A.  Tworectangles

=
7o WMo 4

B. Twocircles

7 38

C. Twotriangles

it faes

D.  Onetriangle

A0 fau

This question relates to this academic standard.

4% o756 9B PGS AT S T Fo

Options :

Connections

| TRTEI

Visualisation
2.¢ gL

Problem solving

ST STATE
3. %



Reasoning and proof

I 8 AT
4, %

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Environmental Studies
477187115
5
Online
Mandatory
30
30
30
0
1
477187182
Yes



Question Number : 121 Question Id : 4771873488 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Plants can be classified into the following categories

BiEw (F [FEFide (e o151 41 (A0e AN

A) herbs
'E\.'ﬂ 3 G:I
B) shrubs
&=
C) trees
EE3
Choose the correct answer
WO H0 (& FEH T4
Options :
A & Bonly
ATqA&B
1. %
B & Conly
L » TAB&C
A& Conly
Mg A&C
3. %
AB&C

4. &



Question Number : 122 Question Id : 4771873489 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Riva often peels vegetables like carrots and cucumbers before cooking. Her teacher
advised her to use them with the peel whenever possible, as it helps improve

digestion. The food component in the peel that is likely the reason for this advice is:

FEIST T2 1= 05T SIS A3 =19 TS NG CIT RGN CFie | Ok
rrs B A= (7= (T TO6I ST (AT 572 418 568, FET .45 Torw
*ffe BH® FA0® N B | (LPIF YT TEI 92 A GATHIING P12 I3
AT (O 20N ;

Options :

Protein

A6

1. ®

Fiber

EREGIE|

2.

Fat

3 % ol

Vitamin

&G

4. %



Question Number : 123 Question Id : 4771873490 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the correct statement about hermaphroditism.

LN = s

Ow [57 4 ST2ATE S0F e db bizw &

Options :

Hermaphrodites can only reproduce asexually.

- O [T 141 (361 WANSIT AGAA FALS ANI

All animals are hermaphrodites by nature.

S A2 Fodes Suy 5

2. %
Hermaphrodites possess both male and female reproductive organs.
o TR AT 93 Jl ToF AGAN W72 AMH

3. v

Hermaphroditism ocecurs only in plants.

L% O [e7% 9MW (9 BB R N2 906



Question Number : 124 Question Id : 4771873491 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The primary purpose of rearing the Kangayam bullock is:

FIATAN FeTH AT AP ST =
Options :

Racing

1. #® {'—%

Milk production

Y 58 AT
2.

Drought work
- YAFA PR

Wool production

\5eT 58 AR

4, %



Question Number : 125 Question Id : 4771873492 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the device, commonly used in industrial chimneys to reduce air pollution by

removing particulate matter from flue gases, from the following

ey THNAT® STHETS IS T ST (A(F IB 2N WA TFI0 R s
2300 [biZw F4

Options :

(Gas turbine

| = 90T GRS

Electrostatic precipitator

, o RIS AHTEes

Heat exchanger

L x O SHBEE

Blast furnace

4.% AG AT



Question Number : 126 Question Id : 4771873493 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Testing for the presence of starch in a food item should be done on:

(I YIRS SoI6T AR 43 STEE A= F41 50 -
A) Cooked food

1490 <40 414l
B) Raw food

e
EA RG]
Choose the correct answer

Options :
Aonly

A A

B only

, % NIEB

BothA& B

, v OOW AGTEB

Neither A nor B

, % A TBNT



Question Number : 127 Question Id : 4771873494 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of ribs present on each side of the human chest

WHET P9 A9 B AT 2Tl ATGad JeA
Options :
13 ribs

L& 139G

12 ribs

12 ‘T“‘leagﬁ.
2.

11 ribs

; % 119G

10 ribs

L% 10 “IGid



Question Number : 128 Question Id : 4771873495 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The balance of oxygen and carbon dioxide in the atmosphere is maintained

through:

Y TG AFHGH 92 FIE G2 THEOGA I IGTT 41 =T

A) Respiration — Plants

AN - BER

B) Photosynthesis — Plants

SATATETS AT - B8R
C} Photosynthesis — Animals
SICEATESTETT — 1
Choose the correct answer

SO GeAls B A
Options :
A& Bonly

AT A 95 B
1.

B & Conly

5 % Ag B @33 C

A& Conly

3 % M A g9 C

AB&C
4. %



Question Number : 129 Question Id : 4771873496 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following declared a ‘no drive zone’ within a 2.5 km radius of the Taj
Mahal?

e (TG orewated 2.5 6. M, IseE e 0 TEs oo (e Satg

Options :

Archaeological Survey of India

v SEATOT AEOGE Qa9

Central Pollution Control Board

) (P T I fEger @G

2.
Supreme Court of India
SRS S (16

3.

Ministry of Environment, Forest and Climate Change

AR, 997 @ GETary AfFT9 gew

4. %



Question Number : 130 Question Id : 4771873497 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

What fraction of the Earth's fresh water is available in the form of ice and snow?

““’j’@%ﬁ FI-GileTd 9 AL I95FF 499 I WIFENT ATSH A19

Options :
1
10
1. %
1
3
2. %
5
3. % E
2
3

4.



Question Number : 131 Question Id : 4771873498 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement regarding renewable and non-renewable energy

SO0Urces.

TIPS 72 - AIAF AT *fed TS T A+ [ bfzw Fa

Options :
Renewable energy sources are always more efficient than non-renewable

sources in energy conversion.

=i FHNWI 5oa AP0 =g Te el 5w =- qaieaenmsy
BT G (@ 75F |

1. %

Non-renewable energy sources are infinite and can be replenished

naturally within a short time span.

- N AFATCIST *ff@rd B8 F WA ¢ g ST W4T ATFfoF wid
AT F° AT (IS AT |

Both renewable and non-renewable energy sources emit equal levels of

greenhouse gases during energy production.

FAFFICIST 478 - FAFITST God *fed BEH2 e B A
NN A N1 [SZreS s 5@ 07 |

3. %

Renewable energy sources include solar, wind, and geothermal, while non-

renewable sources include coal, 0il, and natural gas.

NIHFCA0 *erq BETHA NI ACACE O 6L 992 oA, Smis
- NASATCIST ST NI ACACR ST, (961 438 ATFoF 501 |



Question Number : 132 Question Id : 4771873499 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following food items help in increasing the quantity of blood in the

human body?

[TEF (W MY BT WHACHIRS A0 d AN I FATS SR FG
Options :
Chips, soda, and white bread

. oo, (rer, 492 ST @6

Peanut bar, gingelly bar (Til), and eggs
5 » AR I, fGUsiie (foe) a1, a9 fGw
Pickles, fried snacks, and candy

s x B, OIGT ¥R 43R FIG

Instant noodles, coffee, and sugary drinks

BGIG A6, Hiw 492 [BHTTF A"

4. %



Question Number : 133 Question Id : 4771873500 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

In 1565, the five Bahamani Kingdoms joined together and defeated this

Vijayanagara ruler at Rakkasi Tangadi war

1565 SWCel, SB6 A=WAl AGy JFae W 433 AHDT CHIG IWa
RO ad 92 *MIS P ANGe $d |
Options :

Achyuta Raya

1. ® W%w

Aliva Rama Rava

2.

Venkatapati Rava

5 x (OBGAIS A

Saluva Narasimha Rava

STefw] FafieE A9

4. %



Question Number : 134 Question Id : 4771873501 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following principal followers of Jainism, the Rashtrakuta rulers were

T 4TS RS A8 SsTaind N0 AL *MH4T R

Options :
Chandra Gupta Il and Udavana

THaes I1 998 onas

Kharavela and Samprathi

YIATSA] 98 =A@

Hamundarava and Kharavela

2OIFIE 498 0wl

Amoghavarsha and Krishna IV
4 v TN 998 $2 IV



Question Number : 135 Question Id : 4771873502 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In 1956, the number of States and Union Territories created by the States
Reorganisation Commission

1956 T, AGH AN B FoB 3 G0 32 (FH TS SR LI
Options :

14 states and 6 Union Territories

14 TG 472 6 (FH =TS 243
1.

28 States and 9 Union Territories

5 % 28 G 473 9 (FH *NDTS W2

18 States and 7 Union Territories

18 AMGY A]¢ 7 (F5 *NTS SY2pe

29 States and 8 Union Territories

29 AMGT 43¢ 8 (FH MO W



Question Number : 136 Question Id : 4771873503 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
One among the following was NOT the Prime Minister of India between 1989 and 1991

=N

1989 492 1991 M~ (W, NHTF JFGA SRUSd ALNF! RN =T

Options :
[.LK Gujral
| x TR . SGERR

Deve Gowda

e (oG

Vishwanath Prathap Singh

ERIEIE SRR

3. %

Morarj Desai

(ARG (712



Question Number : 137 Question Id : 4771873504 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following is the aim of 42" constitutional amendment of the Indian

Constitution

wIFey AU 42 N Ay Jrngag 7567 20ay Haide g e
OF6

Options :

Making the Judiciary subservient to Parhament

y [E1E e Aethd WE=s 4l
1.

Enactment of the Official Language Act

SRR ©IE TWEA AT

Bringing Education Under Fundamental Rights

IR GE R CEIGE RV RE BRI E

Strengthening the State Government vis a vis the Central Government

(FEIT TAFNAD QT ATG) TTRALE Mo F41



Question Number : 138 Question Id : 4771873505 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ravi is travelling from New York to New Delhi by Aeroplane. Then Ravi
A (15 2 (A0 [N H0a Tl A0 | ©r=e [

Options :

loses time of 4 minutes as he crosses every longitude

2t TR WoFy TG TN 4 WHNE 97 =497 |
1.

gains time of 4 minutes as he crosses every longitude

ASO BINNIe* Mo 9 7T 4 (NG 5727 Iz 207 |

neither gains nor loses the time

AU o3 RLd 1, AR 8 Al

almost loses 24 hours by the time he reaches New Delhi

o s A 1 1 L e B Y B ) v e TR B



Question Number : 139 Question Id : 4771873506 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

These mountain ranges form the eastern edges of the Deccan Plateau

g% H® (Fafd 7EFTS] TeeiNg AF o1F 16 F |

Options :

The Satpura Range

TSR A S AT

1. ®

The Mahadev, the Kaimur range and a portion of Maikal Range

WEHA, (A Aol 492 NEFE Ao AHG e

2.

Western Ghats

Qﬂﬁm‘aﬁ

3.

Nilagiri Mountain Ranges

LG BIER SR G



Question Number : 140 Question Id : 4771873507 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In India, the major tea producing region among the following is

AU, NAFS @fed T0E Y 61 B AR S6a 26
Options :
The hilly regions of Assam

| ST HZMG =T 35e

The Baba Budan Hilly Region

I A ARG ST26

2. %

The Nilgiris in Karnataka, Kerala and Tamil Nadu
FAF, (S AIS SITNAANGF N5

3. %

The Andaman and Nicobar Region
RIEAN B R BICIEE RV G|



Question Number : 141 Question Id : 4771873508 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The main objective of Integrated Watershed Management Programme in drought

prone areas is to

YRR AR TH S GETdRT TIZHN FAOA e 7567 24 -

Options :
Strengthen the community and enable them to plan for proper utilisation of

natural resources

AFMTAE *T&*Iel 1 498 ﬁﬁii\ﬂﬂi AT IYET 919200 ﬁmdﬁﬂ'ﬂ
BAC9 Ol 5R A Bl

1.
Provide water to drought prone areas continuously

) YT TP AT Giel SFR FAl

Undertake plantation in large scale

Le B NI TN T

Encourage the farmers to undertake community farming

s FIFRA AT PIAD ®&F FA0O O8RS FAT



Question Number : 142 Question Id : 4771873509 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Bhakta Prahalada. the first talkie movie which was released in 1931 was
produced by

1931 NI A& AT AL FAAF HAb g ©F AZTHM ATINGAT FLAREAN
Options :
Raghupathi Venkaiah Naidu

LS (SFET ARG

Edida Nageswara Rao

oo AIT™E 18

Hanumappa Muniappa Reddy

oIS AT (@S

3.¢

M.V.Raghu

anfe. 99

4. %



Question Number : 143 Question Id : 4771873510 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

To spread awareness among daliths by using Popular Folk Arts, Bhagya Reddy

Varma started

G ETRE IIRMR HE, MO NI ool IGIH (SR Gy S50
(G5 A & FARE

Options :
Adi Hindu Society

s

H[[H [=7 HANG

1. %

Jagan Mitra Mandali

- G & el

Satyva Shodak Samaj

J x T COTIE ST

Sharada Sadan

4 x SRS



Question Number : 144 Question Id : 4771873511 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

This amendment made to the Indian Constitution says that “the state shall provide

free and compulsory Education to all children between the ages 6 and 14 yvears

SO MRUM=E 9% N NYAITe I =008 (T, “A1E 6 (ATF 14 I57 I
b O Tl o B | ) Y 3 S 8 2 R L e
Options :
615 Amendment
61 SN ST
1. %
42 Amendment

42 O ST
2. %

86" Amendment

86 O ST
3. ¢

102™ Amendment
102 ©X Syl



Question Number : 145 Question Id : 4771873512 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

During a science lesson, Ms. Patel asks her students to work in small groups to
conduct an experiment and discuss their observations. Which type of learning
interaction is primarily being emphasized in this activity?

e ACHg STUw, ST G g FreRie (=6 (216 7iel ©157 20T
IHG AT ATEEAN FA0o A9 OITHF AT [T WG F90o
I | G2 FIAFANH ATANF SN (FIH G I19F NAFTE 591 (@F

(3T 2[R ?
Options :

Student—Content Interaction

BIa-9w 7% g

Student —Teacher Interaction

, » AR frigm

Student— Student Interaction

RIa-Qa AT

3.¢

Teacher—Content Interaction

Frere-foag 95 g

4. %



Question Number : 146 Question Id : 4771873513 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is least relevant when evaluating the effectiveness of a

science period plan at the primary level?

(F6 T FA A5

Options :

Motivation of students in the teaching-learning process

fREReL- (RITTNTE CSRTE PEsIETRg Coaem

1. ®
Clarity in explaining the content

i 99 T8 T =ger

2.

Effectiveness of assessment methods

T Aaiod FIAHMaol

Teacher's dress code

, *ERTRd (A< faiE

4



Question Number : 147 Question Id : 4771873514 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

An EVS teacher, Kalpana, always encourages her students to decide the final

result not with a single observation, but after making several observations. This
is called:

AFGH 2fw.a9 FiErasl g+, STdm1 ©d FEFdttng 950 HSEsmred
LT W, IRL (T FAS6 ALTHT TLGICA TOMG Terwe L[
FA0® BeNZe Ha | A(F I =T -

Options :
Inferencing
o RV R
1. ¢
Classification

I5TFa

2. %
Prediction
- BREI
QQuestioning
oW Al

4. %



Question Number : 148 Question Id : 4771873515 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the NCF-20035, the following are to be taught in Environmental Studies at

Primary Stage

NCF-2005 SI31d, 21N 0T AR50 S —aeide [ynesE
AT =4 |

A Environmental Protection
B. Poverty

e. Child Labour
f*1e =
D. Miteracy
g
E. Caste and Class equalities

GIfes (X4 ST

Choose the correct one:
S0 B 4

Options :

A B CD,E

A.B.C,Donly

AT A,BCD
2.

A B,C,Eonly

AT ABCE
3. %



A, C,Eonly

NG ACE
4. %

Question Number : 149 Question Id : 4771873516 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The lesson — “Child Rights” — was developed based on the following theme in

Environmental Studies

AT WIS (T {9097 GAd fofe g e wfgsm
ATHT (ot Fdl (AT

Options :

Safety

IEEIR Y
1. %

Food, Health & Hygiene

g7, FATET 3 A %E‘me
2. %

Values and Rights

ALY 478 TGP
3.¢¥

Travel
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Question Number : 150 Question Id : 4771873517 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The following activity will NOT help the teacher to create the effective EVS

{Envirnnm ental Studies) classroom environment

RS FAFATYN FEFRlFE FrARd EVS (AHTI570 WY ) (55
ATATI (Oal FATS =T FAE =T

Options :

Discuss in groups

IETH HITTH ST B4l

Think and Say

W[l 98 =l
2. %

Collect and Record the information (Tables}

O IRAT 4] ([@FG H1 ([
3.

Reading the books

EERS V]|
4.9



